## PAPERWORK REDUCTION ACT SUBMISSION WORKSHEET

Part II: Information Collection Detail Worksheet

1. ICR Title: NAEP 2011 Wave II (Writing and Math Computer-based Study, KASA Math and PR, NIES, NAEP-TIMSS

Alignment, SD and ELL worksheets)

2. EDICS Tracking Number: 1850-0790 v.29 (EDICS # 4337)

3. CFR Citation: NA

4. Is this a common form? Yes No NA

5. Information Collection Instruments:

## **Table of Collection Instruments**

Grad e	Document Type	Instrument File	Respondent	Burden Time	Total Burden Hours	Available Electronicall y	Can be Submitted Electronically	Percent Responding Electronically	Electronic Capability	Obligation to Respond	Affected Public
4	Student Grade 4 Mathematics (KaSA) Questions	Part 1a - Student Grade 4 KaSA.pdf	9,000	.25 hrs	2,250	no	no	0	no	Voluntary	Individuals
4	Student Grade 4 NIES Questions	Part 1b - Student Grade 4 NIES.pdf	16,000	.25 hrs	4,000	no	no	0	no	Voluntary	Individuals
4	Teacher Grade 4 NIES Questions	Part 1d - Teacher Grade 4 NIES.pdf	5,280	.33 hrs	1,760	yes	yes	10	yes	Voluntary	Individuals
4	Teacher Grade 4 Mathematics (KaSA) Study Questions	Part 1c - Teacher Grade 4 KaSA.pdf	440	.33 hrs	147	no	no	0	no	Voluntary	Individuals
4	School Grade 4 NIES Questions	Part 1f - School Grade 4 NIES.pdf	2,400	1.88 hrs	4,512	yes	yes	10	yes	Voluntary	Individuals
4	School Grade 4 Mathematics (KaSA) Study Questions	Part 1e - School Grade 4 KaSA.pdf	200	1.88 hrs	376	no	no	0	no	Voluntary	Individuals
8	Student Grade 8 Core + Writing Computer- Based Assessment (WCBA) Questions	Part 2a - Student Grade 8 Writing .pdf	22,000	.25 hrs	5,500	yes	yes	100*	yes	Voluntary	Individuals

Grad e	Document Type	Instrument File	Respondent	Burden Time	Total Burden Hours	Available Electronicall y	Can be Submitted Electronically	Percent Responding Electronically	Electronic Capability	Obligation to Respond	Affected Public
8	Student Grade 8 Core + Mathematics (KaSA) Questions	Part 2b - Student Grade 8 KaSA.pdf	9,000	.25 hrs	2,250	no	no	0	no	Voluntary	Individuals
8	Student Grade 8 Core + Mathematics (MCBS) Questions	Part 2c - Student Grade 8 MCBS.pdf	7,500	.25 hrs	1,875	yes	yes	100*	yes	Voluntary	Individuals
8	Student Grade 8 Core + Mathematics (NAEP-TIMSS) Questions	Same as Wave 1, Parts 2a & 2c	5,000	.25 hrs	1,250	no	no	0	no	Voluntary	Individuals
8	Student Grade 8 Core + Science (NAEP- TIMSS) Questions	Same as Wave 1, Parts 2a & 2d	5,000	.25 hrs	1,250	no	no	0	no	Voluntary	Individuals
8	Student Grade 8 NIES Questions	Part 2d - Student Grade 8 NIES.pdf	16,000	.25 hrs	4,000	no	no	0	no	Voluntary	Individuals
8	Teacher Grade 8 Writing (WCBA) Questions	Part 2e - Teacher Grade 8 Writing.pdf	3,901	.33 hrs	1,300	yes	yes	10	yes	Voluntary	Individuals
8	Teacher Grade 8 Mathematics (NAEP-TIMSS) Questions	Same as Wave 1, Part 2f	905	.33 hrs	301	yes	yes	10	yes	Voluntary	Individuals
8	Teacher Grade 8 Science (NAEP- TIMSS) Questions	Same as Wave 1, Part 2g	905	.33 hrs	301	yes	yes	10	yes	Voluntary	Individuals
8	Teacher Grade 8 NIES Questions	Part 2g - Teacher Grade 8 NIES.pdf	3,668	.33 hrs	1,222	yes	yes	10	yes	Voluntary	Individuals
8	Teacher Grade 8 Mathematics (MCBS) Questions	Same as Wave 1, Part 2f	510	.33 hrs	170	yes	yes	10	yes	Voluntary	Individuals
8	Teacher Grade 8 Mathematics (KaSA) Study Questions	Part 2f - Teacher Grade 8 KaSA.pdf	455	.33 hrs	152	no	no	0	no	Voluntary	Individuals
8	Teacher Grade 8 Reading and Writing Questions	Part 2k - Teacher Grade 8 Reading Writing.pdf	50	.33 hrs	17	yes	yes	10	yes	Voluntary	Individuals

Grad e	Document Type	Instrument File	Respondent	Burden Time	Total Burden Hours	Available Electronicall y	Can be Submitted Electronically	Percent Responding Electronically	Electronic Capability	Obligation to Respond	Affected Public
8	School Grade 8 NIES Questions	Part 2j - School Grade 8 NIES.pdf	1249	1.88 hrs	2,348	yes	yes	10	yes	Voluntary	Individuals
8	School Grade 8 Mathematics (KaSA) Study Questions	Part 2i - School Grade 8 KaSA.pdf	233	1.88 hrs	438	no	no	0	no	Voluntary	Individuals
8	School Grade 8 Writing (WCBA) Questions	Part 2h - School Grade 8 Writing.pdf	1,432	1.88 hrs	2,692	yes	yes	10	yes	Voluntary	Individuals
8	School Grade 8 Mathematics (MCBS) Questions	Same as Wave 1. Part 2h	402	1.88 hrs	756	yes	yes	10	yes	Voluntary	Individuals
8	School Grade 8 Mathematics (NAEP- TIMSS) Questions	Same as Wave 1. Part 2h	75	1.88 hrs	141	yes	yes	10	yes	Voluntary	Individuals
8	School Grade 8 Science (NAEP- TIMSS) Questions	Same as Wave 1. Part 2h	75	1.88 hrs	141	yes	yes	10	yes	Voluntary	Individuals
12	Student Grade 12 Core + Writing (WCBA) Questions	Part 3a - Student Grade 12 Writing.pdf	22,000	0.25 hrs	5,500	yes	yes	100*	yes	Voluntary	Individuals
12	School Grade 12 Writing (WCBA) Questions	Part 3b - School Grade 12 Writing.pdf	880	1.88 hrs	1,654	yes	yes	10	yes	Voluntary	Individuals
4, 8	Students with Disabilities (SD) Worksheet for Puerto Rico	Part 4g - SD Worksheet for Puerto Rico.pdf	288	1.743 hrs	502	no	no	0	yes	Voluntary	Individuals
4, 8, 12	Students with Disabilities (SD) Worksheet	Part 4a - SD Worksheet.pdf	11,908	1.743 hrs	20,755	no	no	0	yes	Voluntary	Individuals
4, 8	Students with Linguistic Limitations (LSP) Worksheet for Puerto Rico	Part 4i - LSP Worksheet for Puerto Rico.pdf	144	1.743 hrs	251	no	no	0	yes	Voluntary	Individuals

Grad e	Document Type	Instrument File	Respondent	Burden Time	Total Burden Hours	Available Electronicall y	Can be Submitted Electronically	Percent Responding Electronically	Electronic Capability	Obligation to Respond	Affected Public
4, 8, 12	English Language Learners (ELL) Worksheet	Part 4d - ELL Worksheet.pdf	6,000	1.743 hrs	10,458	no	no	0	yes	Voluntary	Individuals

• \* The student writing (WCBA) and student mathematics computer based study (MCBS) are only delivered via computer.

6. Federal Enterprise Architecture Business Reference Module Line of Business: Education

Subfunction: Elementary, Secondary, and Vocational Education

Higher Education

Cultural and Historic Preservation Cultural and Historic Exhibition

None

7. Privacy Act System of Records (if applicable)

Federal Register Citation: 64 FR 30181-30182

Title: 18-13-01 National Center for Education Statistics Longitudinal Studies and the School and Staffing Surveys

8. Respondents:

a. Number of Respondents: 152,900

b. Number of Respondents who are Small Entities: 0